108 2 HRE TEAUT

w2 REE AFA AE uch el M, £ %, $/kg
o 20074 102 20079 102 (FA) SLE(EE) SHEEA) FTECHEA)
o = 2 &g 2 &g e z2 | 29 [ == | 20064 [ 20074
= 1,196,808 232,262| 11,227,217| 2,221,156 22.8 19.4 2.3 1.3 5.00 5.05
1 == 231,545 37,157 2,329,408| 383,843 13.9 5.3 -12| -7.9 5.65 6.07
2 o|= 149,235 29,708|  1,463,563| 295,652 6.1 18.6| -13.0| -3.7 5.48 4.95
3 Hl E = 103,245 15,325 862,842\ 122,395 83.8 84.4 23.6| 17.4 6.70 7.05
4 == 77,080 10,693 749,240 117,719 6.2 -4.2 7.0 6.1 6.31 6.36
5 ol =1 Ao} 64,344 8,368 631,413 91,173 28.1 14.1 4.4 3.5 6.87 6.93
6 A= 66,535 8,782 553,158 80,834 21.9 6.5 -3.3| -1.4 6.98 6.84
7 | otgfolo|2|E A%t 39,087 6,702 308,007 54,115 57.3 67.5 10.3 | 123 5.80 5.69
8 | AbClotztu|o} 19,766 3,558 229,736 39,394 33.3 24 1 5.1 5.7 5.87 5.83
9 s 23,114 4,543 229,705 53,690 22.2 10.8 28.4 | 21.7 4.06 4.28
10 17| 25,461 4,388 225,062 41,873 29.1 13.0 171 -4.6 4.38 5.37
11 za|m 22,257 5,054 204,604 43,181 -16.3 77| -18.4| -3.9 5.58 4.74
12 ThE| 22} 16,349 2,537 165,025 24,994 -8.8 -9.8| -28.0| -32.8 6.16 6.60
13 CEIES] 20,975 4,664 159,481 36,418 93.5 90.0 56.4 | 31.7 3.69 4.38
14 TZA 15,521 1,778 156,069 19,069 39.0 25.6 44.0| 425 8.10 8.18
15 o|Et2|of 15,347 3,267 144,243 33,294 50.9 57.1 16.0 | 20.3 4.49 4.33
16 Zt2clof 16,556 5,803 135,415 52,534 65.8 31.6 39.7| 127 2.08 2.58
17 u= 14,269 4,527 134,541 36,414 17.1 37.4 152 17.9 3.78 3.69
18 Ef = 12,793 2,573 126,485 27,705 13.6 5.6 32| 10.7 4.89 4.57
19 2{A|of odgt 16,238 4,236 123,191 37,477 36.9 -0.5 6.0 -2.8 3.02 3.29
20 A 2l 13,043 3,343 110,490 27,832 34.4 17.9 22.6 7.1 3.47 3.97
21 EIPNE] 13,198 3,229 109,561 28,196 34.9 19.2 35| -0.4 3.74 3.89
22 olc|ol(2lE) 10,855 3,885 101,493 41,577 28.7 10.3 -3.2| -8.6 2.30 2.44
23 a2 et Al 9,847 1,431 100,487 16,208 17.2 461 | -14.7| -14.2 6.23 6.20
24 cHat 9,942 2,181 98,997 22,559 -101| -11.9]| -18.2| -24.8 4.04 4.39
25 Fteict 10,263 1,860 98,756 20,031 24.7 -0.9 -9.0| -14.9 4.61 4.93




